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Economics
Paper 1II

e
PEEL RGN |

Time Allowed : 120 Minutes] [Maximum Marks : 200

Note : This Paper contains Hundred (100) multiple choice questions. Each question
carrying Two (2) marks. Attempt A/l questions.

AT : A GLAYehd THUT IR (100) Tgaaren Ted ot oTed. Tcieh Jemen & (2)

U1 3Ted. @d U Wred.

Basel III conditions, as applied to
Indian banks deal with :

(A) Bank capital structure
(B) NPAs of banks

(C) Profitability of banks

(D) Aggregate bank loans

Identify the statement that is not

correct :
(A) RBI was nationalized in 1949

(B) C.D. Deshmukh was the first
Indian to hold the post of
Governor of RBI

(C) RBIl is the custodian of Foreign

Exchange Reserves of India

(D) Raghuram Rajan succeeded
Urjit Patel as the Governor of
RBI

IR ST @1 sheredl sia 111 3
.................. Jremeht ffeq sTed.

(A) dF siegar= =
(B) ST STATe HUwl
(C) ST ATHURA
(D) THT Fh Hel
Tehia faem siieen :

(A) IR e Sahw aftedishto 1949
ey 3

(B) WG fgreg s Tleg1ug YHfum
€l vmE 7 e 9RdE 8

(C) 9 g 9% arare Wi
AT HISATE! TR 3T d

(D) 3fa T FITAFR TH TS

YR e dfhe gl oA

[P.T.O.



SARFAESI Act (2002) in India deals
with which of the following ?

(A) Merger and acquisition of
banks

(B) Restructuring of cooperative
banks

(C) Bank Recapitalization
(D) Recovery of NPAs.

Which of the following statements
about Reserve Bank of India is not
true ?

(A) RBI is the central bank of
India

(B) RBI moulds the monetary
policy of India

(C) RBI moulds the fiscal policy of
India

(D) RBI is both the bankers’ bank
and Government’s bank

Which of the following is not among
the five associate banks that have
been merged with State Bank of
India ?

(A) State Bank of Bikaner and
Jaipur

(B) State Bank of Hyderabad
(C) State Bank of Punjab
(D) State Bank of Mysore
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SARFAESI R (2002) ETeiicidsh
wyment ffeq s ?

oo [a

(A) denra fafererto smfor arfiefeno

(B) WehI Sepiel TALEI

(C) s gAUTSHCHHI

(D) e HYwi= gl

aRaE Rerd sh=n Teuld s faum

T OATE ?

(A) IR figrd e et qegedt o
3T

(B) yrda ford s wifger eRom=i
ARG A

(C) YR figrd s etforita Lot
SO hid

(D) R fgrd o & dhr=l o9 9
THTE Sk 3"

ETATTdeh! IV Sh WRAE e sehd
facia shean e 9= Heanl Sehiqed
et ?

(A) W2 o 3Mh fIhTR T S
(B) W2 &% 3Mh e

(C) V2 o Ah g

(D) T2 &% HH THX




Match the following :
Nobel Prize Winner
(@) Amartya Sen
(b) Richard Thaler
(¢) Paul Krugman
(d) Robert Lucas
Field/Area
(2) Behavioural Economics
(z1) Development Economics
(it1) Welfare Economics
(iv) International Trade
Codes :
(@ b)) (@ (@
A @ @ G Go)
B) G @) Gv) @
©) @) @ @ @G

D) @) @ @) @)

6.
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SISPIISCC I

Aoe uTRditoes festd
(@ ™A ¥
() =g grer
(c) e A
(d) UaE g&Hd

&

(i) o ST
(i) foeprara srefemes
(iii) HAVEHR] AT
(fv) AT AR
Hehdich

(@ G) @ @
A @& @ G o)
B) @ GG G @
©) @ @ @ G

D @) @ Gv) @)
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According to Leibenstein, the
favourable conditions in the path of
Economic Development are known

as :
(A) Positive factors
(B) Incentives

(C) Capital

(D) Growth agents

According to Hicks, a neutral

invention is when :

(A) It increases savings and invest-

ment in same proportions

(B) It raises marginal productivities
of labour and capital in the

same proportion

(C) It develops agriculture and
industrial sector simul-

taneously

(D) It does not affect the economy
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ARSI Ha ST foshramrean

(A) FhcHS Edh
(B) 9Xom
(C) vead

(D) oI Afyrd

Tooe A= \d, TeXy TRy deare Hed

'a?ﬁ@?&'[:

(A) oS Tl ST I[AAVEHTHES THMA

JHOME 9@ B

(B) ©es 9™ 3T WiEaem=a HHd

3cCshdd HHM JHIUMG 91@ Bld

(C) TS UehTaded FHuit 207 Sirenfites
& faeem B

(D) TYes TfawdeR TRomy B et




10.

Which of the following can be said

as a major difference between

Harrod and Domar growth

models ?

(A) Both have different
assumptions

(B) Harrod stresses on knife-edge
equilibrium while Domar does

not

(C) Harrod’s model is for advanced
countries while Domar model

focuses on backward countries

(D)

Both use different notations for

marginal propensity to consume

The capital-turnover criterion of
investment is associated with ............

these economists.

(A) Joan Robinson and W.W.

Rostow
(B) J.J. Polak and N.S. Buchanon

(C) K. Kaldor and Rosenstein-
Rodan

(D) Ragnar Nurkse and Hirschman

10.
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e T SR Gt WS Tetierdeh]

R TIE R AE 7

(A) T wEuEl TR fa= emRa

(B) BUSH WX HIehN FHAAEN 3T

T ST a9 e

(C) BT YeT WId SIMEE 378, T

M

LN N N ~
SH™E HAlY HEIE QRIAX oplxd

S

(D) T2 WIS HHG SHERT FgiErat
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11.

12.

Theory of Big Push describes

different kinds of .............

(A) Stimulants and shocks

(B) External economies and

indivisibilities

(C) Equilibrium traps

(D) Growth agents

The way income is distributed across

individuals and households is

referred to as :

(A) Absolute inequality

(B) Relative inequality

(C) Vertical inequality

(D) Horizontal inequality
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11. Yoo =e fagaa R aRe

(B) 91 @y 3o Afayrsaan

(C) 9Hded 99

(D) Fai AfeeRd

12. KT ST HZaHed Scq— Toraommean

(A) U fasma

(B) Gmuey fasman

(C) Tuy==ia fasma

(D) wHEEE oo




13.

14.

15.

According to Hirschman

industry is having highest combined

linkage score ?

(A) Textiles

(B) Iron and Steel

(C) Energy

(D) Agro-based industries

Who has developed the theory of

technological dualism ?
(A) J.H. Boeke
(B) Benjamin Higgins
(C) R.P. Nelson

(D) Charles Kindleberger

According to Rostow’s growth model
............... stage is a watershed in the

life of a society ?

(A) Traditional society
(B) Drive to maturity
(C) Take-off

(D) Age of high mass consumption

14.

15.
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(B) d@e 9 UidIe M
(C) 3=t

(D) FHEr-neRa ST

o o

SIRIMTcHeh ‘gaaern fagid shioft T

Ha ?

(A) ST=. 9%
(B) st fefir=
(C) AL e

(D) =cd fhedasit

] Il Jg YEUTER STefeqaed=
S{TSISHHAT Shifeh ] Siaet SREFURT STereell

(A) IRUfer A
(B) uRuesaa=a i areamd
(C) SSSTuTerEer
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16.

17.

Which of the following economists
have developed New Growth

Theory ?

(A) Romer, Lucas and Arrow

(B) Romer, Robinson and Kaldor

(C) Marx, Schumpeter and Keynes

(D) Romer, Schumpeter and Meade

The basic needs approach to

economic development consists of

(A)

Basic income and consumption

(B)

Provision of Minimum Wage

(C) Provision of health services,
education, housing sanitation,

water supply and adequate

nutrition

(D) Public distribution scheme

16.

17.
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WAt hIvTe tefasdiel ‘Ta-g&l

[ TN oS o

fggra’ fowfaa san smg 2
(A) TR, TEE AT 3R
(B) TR, UfeEA S7fur HieeRr
(C) W, gdtex offor &=

(D) IR, YR i e

afeien fohram=an qayd TSN gfteenm

(A) HAYd 3= 30T IqYRT

(B) M o= e

(C) TRrgan, foreon, Tefmfo e,

TofgEEel ST QR 9T = Ts

(D) wreStfer faaeor e

10
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18. In which year the World | 18. I T Sfaeh fIehrd TedTer=
Development Report had the theme foog ‘fawm@am @’ & B 2
of ‘Challenge of Development’ ?
(A) 1990
(A) 1990
(B) 1991
(B) 1991
(C) 1999
(C) 1999
D) 2000 (D) 2000
19. Which of the following says that the | 19 e EE=AT fafimse qrediel TER =1
per capita income is maximum at a TeTH ST9d § YeIeTdeh! Shival qay
particular level of population ? T ?
(A) Malthusian Theory of Population (A) TouE Tl deEEn fag
(B) Theory of Optimum Population . .
yOorp P (B) W@ anee faga
(C) Theory of Demographic ) ) )
o (C) drhyE feuddt fogid
Transition
(D) Harris-Todaro Model (D) =RE-
20. Name the state with the lowest death 20. 2011 = STTIIHR 1AM oI ;
rate according to Census 2011. IS ST -
(A) West Bengal (A) =" S
(B) Haryana (B) &A™
(C) Bihar (C) T
(D) Kerala (D) %
11 [P.T.O.



21.

22.

Which of the following establishes
the principle that energy can neither

be created nor destroyed ?

(A) Pigouvian Tax

(B) Coase theorem

(C) Tradeable permits

(D) First law of thermodynamics

What 1is the Environmental

Economics ?
(A) The branch of Economics that
studies how environmental and

natural resources are developed

and managed

(B) The branch of Economics that
shows how to exploit natural

resources as quickly as possible

(C) The psychological study of
relationships between humans

and natural resources

(D)

The relationship between

Economics and trade

21.

22.
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Foi fafor 2% Sreha AT fepem o AT

e ARl § awd Jeid iUl Hehed ]

e Hd ?

(A) fomfoa st
(B) &9 A

(C) HFMER Irg qu@m™

(D) ISTTfdeh=n qog f=m

TR0 A "IN S ?

(A) AT S0 IME S T
9 9fifer gaen faswfaq w0 9

T AT HI0 gl 21Ty

L

(B) oI qd@dl STega S fiieh TETeH
TG0 Y IS S STV AT

Ueh RTEI

(C) HMel a Sufffer TERA I 98-

T HAESTSE 378219

(D) AUIME 9 AR AT T

12



23. Which of the following is a

transboundry externality ?

(A) Pollution has an identifiable

source

(B) Pollution emissions in one
country or several countries

affect other countries without

pollution problems

(©)

Pollution which emitted from

many sources and it is
extremely difficult to identify

and monitor

(D) Pollution which can take the
form of chemical substances or

energy such as noise, heat or

light
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23. YEeush! M HHAMR sfexar guffad ?

(A) TEEOMET H HId eIy

Sl

(B) el fohanl sTieh <mial GO

IS YGHOTEl Y9 O SR

3 MR RO i

(C) JguUul 3ch s*mtamﬂlﬂﬁ;i SIS

S F N STHAET 3T 9 A

T FHIU AT

(D) @S SeRaA foan Timme,

IOTCT fohall TERTRT STRM o1l Th RIS

B HgST

13
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24.

25.

() The Population Policy 2000 had
a long-term objective of
achieving a stable population by
2015.

(z1)) The Population Policy 2000

aimed at achieving universal
immunization of children
against all vaccine preventable

diseases.

What can you say about the above

statements ?

(A) Statement () is correct but (i7)

is incorrect

(B) Statement (i) is correct but (7)

is incorrect
(C) Both (i) and (ii) are correct
(D) Both (i) and (ii) are incorrect
The abbreviation PPM stands for :
(A) Parts per million
(B) Production per million
(C) Parts per metric ton

(D) Production per metric ton

24.

25.
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() 92015 THd dehEeEA fer o
¥ W9 2000 = ARG RO
Sreare= Sfese a.
(i) FEIS el Yide HIoarEret
STCTehTe ATk TR0 I T
T 2000 = SREEAT GRUT e
B

I < faumTeTed @reilerdeh! ShIoTdl
g feea ?

(A) a9 () o= 90 fa8m () I
e

(B) faem (i) em=eh 90 faem ) =
E3IE

(C) faum (i) 9 (ii) 3T 3MRd
(D) faum () 9 (i) I 2

PPM © dferm &7 qdad®w! &M
qgiferd ?

(A) 9fd szr@er w0

(B) "fd IereAer SedreH
(C) 9fa #Afgew =A &w
(D) wia #fger <7 3R

14



26.

27.

Why do large business corporations

voluntarily reduce their pollution ?

(A) Some consumers are willing to

pay more for Green Products

(B) Green investors may prefer to
invest with socially responsible

firms

(©)

Industries try to act first before
government passes tougher

environmental laws

(D) All the above statements

As per census 2011 data which state
in India has the maximum sex

ratio ?

(A) Chhattisgarh
(B) Karnataka
(C) Kerala

(D) Odisha

JUN -11219/11—D

26. ISl HTUE HE Wosd UGHU hHHT

FHIOIEST k1 FI HdT 2

el YUK Bld SRSl SR

T A9 TR A9

(A)

(B) 3R T[AORER WM wifeeiht

AT SENTEEAT=A] T[qev]eh 1

Tt A

(C) gI&TA &Hesh TIiavia fam

AT IT HEATAT HTH

HUIAE ST

(D) = we faum @t s1med

27. FF 2011 = STFVATHR WIS ShivTe

T fam g ek e ?

(A) AR

(B) e

(C) 3B

(D) STREn

15

[P.T.O.



28.

29.

30.

Which of the following is a non-

renewable natural resource ?
(A) Fish and livestock

(B) Petroleum

(C) Human Resources

(D) Teakwood plantations

Demographic dividend refers to arise

in population between the age group

(A) 14 to 59
(B) 15 to 59
(C) 15 to 64
(D) 14 to 64

Which of the following ministries
implements the Mid-day Meal
Scheme (MMS) ?

(A) Ministry of Women and Child

Development

(B) Department of Food and Public

Distribution

(®)

Planning Commission

(D)

Ministry of Human Resource

Development

28.

29.

30.
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JEATdeh] hIUN e SHIEE STaI-
Fg 3R ?

(A) 98 9 YA

(B) Udfe=

(C) Het HEeH

(D) WA= ANTeS

TANRA AhTEd B
(A) 14 d 59
(B) 15 d 59
(C) 15 1 64

(D) 14 d 64

@Ak IV AT HEATS

IS AT SHAASTEN hedl S 2

(A) wfgen for a HeA HATGE

(B) 3791 9 HraSiqer faaeor fasm

(C) TFersH smEm

(D) \FE gEed faem w9

16



31. Which of the following criteria is

used to define an urban area as per

the census 2011 ?

(1) A minimum population of 5000.

(z1)) A density of population of at

least 400 persons per sq.km.

(7iz) At least 75 percent of the male
working population engaged in

non-agricultural pursuits.

Which of the following is correct

answer using the codes given below :

(A) (i) and (ii) only

(B) (ii) and (iii) only

(C) (i) and (zii) only

(D) @), (i) and (17)

JUN -11219/11—D

31. SFTUAT 2011 FHR, ARRT &A1= SAre

FLAMT CTeATeTdeht shivral RS STaTe

S ?

(G) THAM AREEA 5000 Sdeh! TS

(i) AREEAET T fRAM 400 =Rl

gfa =1 fodt. stEme

(iii) TorR it &= T 75 2ok g

) S hd

FEFRH AR FHRT ST

Teid ehdlhr=al SMER 3TgH I

HIUE ?

(A) ® (i) S (i)

(B) e (ii) MM (i)
(C) ®el (1) 30T (i)

D) (), (@) 37 (i)

17

[P.T.O.



32. Which one of the following is not an

33.

indicator of the multidimensional

Poverty Index ?

(A) Health

(B) Education

(C) Living Standard

(D) Maternal Mortality

Deposit Insurance and Credit

Guarantee Corporation (DICGC)

was established on .............
(A) July 1, 1978
(B) July 15, 1978

(C) August 15, 1978

(D) October 2, 1978

32.

33.

JUN -11219/11—-D
TATTUsh! IV Teh AgsTRam SIed

~

BEUEAC IR R | 1

(A) Y

(B) Tretor

(C) TBuitHH

(D) A g

& fomr 9 ud &6 qeHes® (DICGO)

R L= i = £ A

(A) 1 51, 1978

(B) 15 91, 1978

(C) 15 3T, 1978

(D) 2 AT, 1978
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34. Who recommended to establish the | 34. fom1 f7ame wiftrrtor Temae sheoar=it
‘Insurance Regulation Authority’ ? frerE =l el Bt ?
(A) Dandekar Committee (A) ST HiFdt
(B) Malhotra Committee (B) g gl
(C) Khusro Committee (C) T&l "t
(D) Rangarajan Committee (D) TRISH wfHt
35. Cryptocurrency refers to .............. 35. fwemEem TS
(A) Plastic money (A) s T
(B) Digital/Virtual currency (B) fefSteay/znumt =e™
(C) Digital payments (C) fefsteat Sg=h
(D) Both (A) and (B) (D) (A) =7for (B) 3=t
36. Arrange the names of the chairmen | 36. @eiia fo AERT=A eI =
of the Finance Commission of India THUR AT RIHATTIR AU &I :
in the chronological order : 0 . G
() K.C. Pant .
(ii) . SEE g
(z1)) K. Brahmananda Reddy
(iii) TUH. TE
(ziz) A.M. Khusro
(v) . FAFH
(v) K. Santhanam
@A) ), ), (i), (v) (A0, ), ), o)
®) Gi), G), Gid), (v) ® @), O, Gi), ()
©) (v), (i), G), (iid) (C) (v), (i), @), (D)
(D) (i), (i), @), (iv) D) (D), (), @), (v)
19 [P.T.O.



37. Arrange the following Urban

Development Programmes by the

year of their implementation

starting from the earliest to the

latest :

(1) Integrated Development of

Small and Medium Towns

(IDSMT)

(@) JNNURM

(zit) Mega Cities Programme

(iv) Smart Cities Mission

A) @), @), Gu), ()

B) @), (D), (o), (@)

(©) ), @), (D), Gv)

D) @, @), (o), ()

JUN -11219/11—D

37. Weital A foerm s e

STHASSET= Eardeal auaegd o
STeleh S=A THTATT IR HITIR HISTT

XY

() EE 9 T TR ThiicHeh foehTd

(IDSMT)

(i) STATEETA 8& T AFRI GAHHAT

A
(i) wm &S wrfwn
(iv) e fqdt srfimm
(A) @), (o), (i), @v)
B) @), @), (v), (1)
©) @), @), @), (v)

D) @), @), (), ()
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38. Match the following :

Year

(@) 1981

(b) 1991

(¢) 2001

(d) 2011

Total Work Participation

Rate in India (%)

@ 375

(i) 36.8

(iii) 39.8

(v) 39.1

Codes :

(@ () (o)

A @ @ @)

B) @) @) @)

©) @ O @@

D @ @ @)

(d)

(tv)

@)

(279)

(tv)

JUN -11219/11—D

38. ITY SrSAl Bl :

(@) 1981

(b) 1991

(¢c) 2001

(d) 2011

T

TRATIA THUT i TGN

T (SHhaRI)
@) 375
(i) 36.8
(i) 39.8
(v) 39.1
Hehdieh :

@ ® © @
Q) @) @ @) )
B) Gv) GE) @) G)
© @ @ G G
D) @ @ @) ()

21
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39. Match the following : 39. g Sie Jeoal
State =g
(@) Gujarat (@) TR@
(b) Karnataka (b) wAH
(¢) Maharashtra (c) WERIE
(d) Tamil Nadu (d) fHeTs
Poverty estimates (2011-12) TG W (2011-12)
(i) 11.3 percent (@) 11.3 =%k
(i) 16.6 percent (ii) 16.6 Fh
(iii) 17.4 percent (i) 17.4 =Fh
(iv) 20.9 percent (iv) 20.9 TFhH
Codes : Hehdieh :
@ ® © @@ @ ® © @
(A @) G @) @) A) G) Gi) G Gv)
B) G) Gv) Gi) 6 B) G) Gv) Gi) G
©) G G) G ) ©) @ G Gi) @)
D) @) @ @@ G0 D) Gv) G G Gid)

22



40. Match the following :
Committees
(@) Alagh Committee
() Tendulkar Committee
(¢) Lakdawala Committee
(d) Rangarajan Committee
Years
(@) 2012
(@) 2009
(i2) 1993
(fv) 1979
Codes :

(@ ) © @
A @ @ G Go)
B) G @) @G O
©) Gv)y @) G @

D @ @ G @)

JUN -11219/11—D

40. Irg SSAT Soodl ¢

Wit
(@) TeT™ |l
(b) AR GiHdt
(c) TRSET et

(d) TRSH |t

(@) 2012
() 2009
(i) 1993
(fv) 1979
Hehdih :

(@ &) © (@
A @) @) @D Go)
B) Guv) G @ @
C) ) @ G @

D @ @ Gv) @)
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41.

42.

Consider the pair of goods X and Y.
It is observed that when price of Y
falls the demand for X rises. Which
one of the following options would
you choose regarding the nature of
these goods ?

(A) They are complementary goods

(B) They are substitute goods

(C) They are giffen goods

(D) They are inferior goods

Read the following statements and

find out if they are correct or

incorrect :

(z) When average total cost in the
short run is at its minimum, the
corresponding marginal cost is
also minimum.

(z1) The average fixed cost during
the short run is U shaped curve.

(A) Both are correct

(B)

(©)

(D)

(1) 1s correct, (iz) is incorrect
Both are incorrect

(1) is incorrect, (iz) is correct

JUN -11219/11—D

41, ‘&1’ onfor ‘' e SISl ST 3 TY HWEST

Segt ‘1" =t forAd Ted dean &' < "o

e, ST 3@ Ad. A1 T S

30T YEeTden! wivial v faee 2

(A) I oK ek 3Ted
(B) o1 % WA eTRd
(C) = FTHA =% 3ted

(D) o1 HiT3 I&Y 3

42. et fam sren S ot =k i S

Rd o T :

(i) Sieal TR TSI THU 2
AT TN, T qegEd W =
QT =ATH ST

(ii) 3TeUeTead T feR =99 o Ut

I STRRIET STE.
I faum aleX emea
(i) SR 3R (i2) I 3T

(A)

(B)

(C) T I 3

D) () I & (i) T 378

24
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43. Uncertainty influences the | 43 STfyaad=n guE e He= 49 9
estimation of costs, revenues and TR B SR -
hence the ............... B,

(A) profits of the firm (A) IO FEE AR

(B) decisions of the firm (B) Scured Hege oA

(C) investments of the firm (C) S Heereh W

(D) insurance policy of the firm (D) ITAGT HEE AR HR

44. A ... game is one in which it is 44. S| T ez i AEY
not possible to commit to strategies. W%ﬂ Sifereteh! T T
(A) Co-operative (A) FERRl
(B) Non-co-operative (B) STHEHRI
(C) Zero sum (C) I =
(D) Competitive (D) e

45. Under Cournot duopoly model, the 45. AT gATYUHR FRTHATTHR Hde fehd
equilibrium price i§ e | 3T
(A) indeterminate (A) SR
(B) equal to competitive price (B) T fepmet o
(C) equal to monopoly price (C) waert fepmdt Tl
(D) more than competitive price (D) TS ‘rch‘*-ldﬁlal&ﬂ Siesic |

and less than monopoly price wRIE! fehmdiien s
25 [P.TO.



46.

47.

The backward bend in the shape of
supply curve of labour is caused

by :

(A) cost of labour

(B)

attitude of individuals towards

work and leisure

(®)

demand for labour

(D)

factor market

According to Dorfman, Samuelson
and Solow, general equilibrium
analysis becomes .................... if it is
not known whether an economic

system can attain a general

equilibrium.

(A) Practically useless
(B) Practically useful
(C) Perfectly applicable

(D) Impossible

46.

47.

JUN -11219/11—D

SH qIESl Fehl=Al UIeHnl gl

SMHI O]

R,

(A) =1 =3

(B) 1 T RIS o5 AT
SRS

(C) =T ATTOR

(D) =2 ENIR

ShA, YIUaEA T el ar=n f7d
SR TEIRT 3TfYeh e eaeRo Sder

STETET U i feherl 6T & AR 9d

(A) AERIRhgsed Fegartt

(B) SeRIiichgsedn IqANT
(C) wRguul ITASAr™

(D) 3

26
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48. According to the Kaldor-Hicks | 48 eefik-fera=n wwur fREER S
compensation criterion, a change in
e W 3k GRS dIgel FHISTh
economic policy leads to an
improvement in social welfare if POATINA. FHRAT FST S il
----------- (A) wq 3 ﬁﬁa a
(A) The losers do not oppose the
PP B
change
(B) The gainers can just (B) =4 - )
compensate the losers WO HUd AT
(C) The gainers can compensate the ©) @ f S .
losers for their loss and still
remain better-off themselves SR e
than before e e Tedl ST
(D) The gainers and losers get (D) o4 F@auR 9 Y TEER A
compensation from the
WHRhed WU Hesd o18d
government
49. Moral hazards are also a result | 49 ek eftehr EERRCIE
Of v Lt
(A) Symmetric information (A) FFE Hifed!
(B) Lack of information (B) wifedi=n A+
(C) Asymmetric information (C) =&Y Hfed]
(D) Perfect information D) T’f mTfel
27 [P.T.O.



50.

51.

52.

Social welfare function was first
introduced by :

(A) Adam Smith

(B) Joan Robinson

(C) Nicholas Kaldor

(D) Bergson

Which of the following is neither a

determinant of the slope of IS curve
nor of the LM curve ?

(A) Elasticity of interest rates to

investment

(B) Elasticity of money demand to

income

(C) Elasticity of demand to interest

rate

(D) Elasticity of income to

investment

To achieve a rise in income of ¥ 500
crores given that the marginal
propensity to save (MPS) as 0.2, how
much autonomous investments are

needed in the Keynesian model ?
(A) X 100 crores
(B) ¥ 1000 crores
(C) X 400 crores
(D) X 500 crores

50.

51.

52.

JUN -11219/11—D

TSI HheaT el afeedia]
I THRA el

(A) feq femy

(B) A Ufe=

(C) Trple™ sheelR

(D) A

@ik hIvdT ®eeh IS 3T LM =1
e ?

(A) TAAR eTeI= SATSEI otaleehdl

(B) T9T=A1 AMOAET Scq=ATaTSq=
GEIEEXI

ORI EIR I SHIEIESEIRSEIEEX]

(D) 3T TAeeh TS e eehal

I T 500 HIET 9 e HITATHS

W a=d Y 0.2 STEAA g

GfIIER ot Tame Jaaven el TS
e ?

(A) % 100 =it

(B) ¥ 1000 It

(C) % 400 It

(D) % 500 =it

28



53.

54.

In an economy, high powered money

is equal to :

(A) Monetary liabilities of central

bank + government money

(B)

Monetary liabilities of central

bank — government money

(C) Monetary liabilities of central
bank + foreign exchange
reserves

(D) Monetary liabilities of central
bank - foreign exchange
reserves

According to the Rational

Expectations Hypothesis, there is no
trade off between inflation and

unemployment because :

(A) Wages are rigid downwards

(B) Prices are rigid downwards

(C) People anticipate changes in
money supply and accordingly

adjust the prices and wages

(D) People make biased forecasts
about the future of economy

based on available information

53.

54.

JUN -11219/11—D

stefeTaEdmetd Sem TE gkt
IV T qRifordl ?

(A) HeFardt steh=lt Hifseh Qo + L
T

(B) HeFardli sleheil Hifgeh <3l — LT
T

(C) Tezardt bl Hifgeh TA + TR
e S

(D) wezad e Hifgeh QT — TWehld

I I3

faast a19an TEIGRER HEaRe 9
SRISTTIY 1 SIEIAE IVl Sarorearo
TG R

(A) 97 7 STEEH feRe et S
(B) fermlt &1 €Tt fe=i et Sr&em
(C) Tk IR RaSada sl STdferd

¥ o AER fohda oTfor S

RIS hidd

(D) Sudsel AIfgdi=ar ATeM olsh
Aefeed= vfasarared  geTardt

ST
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55.

56.

57.

Gross National Product = Gross

Domestic Product +

(A) Depreciation

(B) Inflation

(C) Net factor incomes from abroad
(D) Factor costs

The Non-Accelerating Inflation Rate
of Unemployment (NAIRU) is

defined as :

(A) Inflation rate is always zero

(B) Actual inflation rate exceeds the

expected inflation rate

(C) Actual inflation rate is less than

the expected inflation rate

(D) Actual inflation rate equals the

expected inflation rate

The total consumption divided by
the total income is known as ..........
(A) Average propensity to consume
(B) Marginal propensity to consume

(C) Marginal propensity to save

(D) Average propensity to save

55.

56.

57.

JUN -11219/11—D

Thal TRE MG = Fohal QINad

(A) =ET

(B) IoHd@

(C) TG e o 3ca

(D) =< T

TR0 TR a1 7 U SRS €
(NAIRU) 3Tl =41 qaieTdent hIvril ?

(A) TR ST et I 1ol

(B) HIfEhdl A1 a&de g HEIEhie

STUTeTd TUUeT S 3THal

(C) HeIfowdi=n ama <X HaIEhdteA

STuferd SUUem el STl

(D) He1fewdten arde X 9 eIiedr=n

YT S FHM ST

TR STHIE THIT A= AT STET

qEcushl e fHed ?
(A) TES UG FIi
(B) HHM@ IYNRT Yot
(C) ¥Ma a=d ygt
D) TES =Ygt

30
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58. Stagflation is a period of ............ 58. Jig\ﬁ«qqq] gfed ‘qfr/a\qjlﬁm g
(A) High inflation and high = ehTCTTEl ST,
unemployment (A) S=9 HEME oMo Sea SRS
(B) High inflation
d (B) S=4 werm
(C) High unemployment
(C) =9 SRS
(D) Low inflation and high
unemployment (D) el HETME A0 oo SIS
59. If the economy is in expansaionary | 59. eHaw SMURAHMN foRARE™ TEId
phase of business cycle, aggregate STHAT, TR WREOR - hEni
demand is likely to be .............. o P
unemployment is likely to be ............ , , 3%
inflation is likely to be ............ and HAgRACITAT Hegell TTeAEg
the current account balance of oo
payments likely to be moving
towards .............. (A) ¥Ted, 4l B, 9Ted, I
(A) rising, falling, rising, deficit (B) feem, =tft, e ©
(B) static, low, rising, deficit
(C) I BId, HHT BId, HHT BId, Ao
(C) falling, falling, falling, surplus
(D) falling, rising, falling, surplus (D) T @, e, FH WA, A
60. The investment demand curve | 60. T[AaU[h ARV Tk T TICHAIh! HIeA
shows the relationship between the 3 Seimeiel gey Tl
following two variables :
(A) Investment and consumption (A) W CULEEERIL
(B) Consumption and interest rate (B) U STfoT =ATeTe
(C) Investment and interest rate .
(C) Tk ATV SIS
(D) Investment and demand for
goods (D) T[AEvTeh ST S AT
31 [P.T.O.



61.

62.

Logit and Probit models are used to

analyze data that are :
(A) Binary

(B) Continuous

(C) Missing

(D) Used to analyze business cycles

exclusively

.......... , X is a random

n

sample from a normally distributed
population with mean 1 and variance
02, then the following follows a

standard normal distribution :

X-u

(A)

X — )2
® -9

© = =

61.

62.

JUN -11219/11—D
s 2A1for yifae gfaamr=n arm Sl
YR TR fagersomasl g .

A) fgata

(B) et

(C) A& HEY 9 3UAsH AHdId gl

(D) <hdies ATIESh faTeioT SHIoAHS

o2 ¥ Taae 3Teca FaEHrRol ferd<or

ST AT Saeiel T Tl

A, N WATAUh! Hiorears faawo
TG GaarERel (Standard normal)
Iqd ?

@) 2=

X - u)?

0.2

(B)

0_2

(©) hard

X

X —u
G/\/;

(D)
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63. Suppose Y; = o+ BX; +e;isa linear | 63. Y;=a+BX; +e¢; FRCIR R IR E R EIE|
regression model. Goldfeld-Quandt A R Meshos-Fae &l A==l
test is a test of - TR WTCATeTIh! HYIATT Tl shell
(A) Autocorrelation S 2 . .

(B) Data mistakes (A) AARTAA HEHaY

© Het dasticit (B) sTehearidie e
eeroscedastiaity (C) SRR Ahiay Ffword

(D) Correlation between X and Y (D) X & Y =0 9egeur=n gestd

64. The following is the formula for 64. TusTraT= TEgs e gulfqﬂia g
Pearson’s coefficient of correlation : e F O 2
(A) Covariance(X, Y) Covariance(X, Y)

O0xOy (A) 0Oy
Covariance(X, Y) Covariance(X, Y)
(B) s (B) ’
xOy G§G%
G?{ . (52
(¢) —5 Covariance(X, Y) (©) —X Covariance(X, Y)
Y % ’
2 . 2
(D) ox x Covariance(X, Y) x oy (D) o% x Covariance(X, Y) x 6%
65. If Y, = X +e 1 li
p=otPX re s a linear | oo ey Y, =a+pX;, +e © {17
regression model and there is serial
. AT TiHH T8 ST |1 i =
correlation among the error terms,
then - SERTHES IoT TR EE, W
(A) OLS estimators are unbiased (A) O afor B ¥ sierst stfma smfon
and efficient FEH ST
(B) OLS estimators are unbiased (B) & aqfn B 3 sieTs) STfHd sTaad
but not efficient . -
nld —Hdld
(C) OLS estimators are wrong T{@ . 0
(D) OLS estimators cannot be ©) « B & s gepl= SISl
calculated (D) O 37for B ¥ 3T Tedl I R
33 [P.T.O.



66.

67.

68.

x3

Let y=—+1)

2 - What is the limit
ofyasx > 17
(A) 2
(B) 0
€1
D) 3

2 1
If A=

, what would be the
0 2

value of determinant A ?
(A) 4
(B) 2
) 0
D) 1

In a static optimization problem
with an equality constraint, the

Lagrange multiplier, A is :
(A) Always less than zero
(B) Greater than zero

(C) Always zero

(D) All the above

66.

67.

68.

JUN -11219/11—D

x3

(x2 +1)

ST Y = 7Y T8, Wy &l

@ & — 1 FEaH fodt @A ?
(A) 2
(B) 0
©) 1
D) 3

2 1

ST A=

, T IR0 oI 1
0 2

;WA ?

(A) 4

(B) 2

) 0

D) 1

A E0Y S1Ed R swead T
RIS R ), TeRdt @A ?

(A) SeHE e HH

(B) IERd AfEen
(C) TeH= A
(D) SWed gad

34
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2 1 0 2 1 0
69. Suppose A=|0 2 0| while | 69. ¥HST FRUT A=|0 2 0|, X
1 1 1 1 1 1
2 0 1 2 0 1
B=10 0 1| Then what would B=10 0 1| gq A - B =™
0O 1 1 0O 1 1
be A - B ? RES I
0 -1 -1 0 -1 -1
(A |0 2 -1 (A |0 2 -1
1 0 0 1 0 0
2 0 O] (2 0 O]
B (1 1 1 B |1 1 1
1 0 1] 1 0 1]
2 1 1] 2 1 1]
© |11 2 1 © |1 2 1
1 0 0] 1 0 0]
(2 0 O] (2 0 O]
D o 1 o M o 1 0
0 0 0] 0 0 0]
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70.

71.

72.

If A= the characteristic

2 1

1 2]’
roots of A are :
A) 1, 1

(B) (1, 3)

(C) (-1, -3)
D) (-1, -1)

Let y = K“I! be the Cobb-Douglas

production function. Then, o

measures :

(A) Elasticity of output with respect

to labour
(B) Elasticity of output w.r.t. capital
(C) Marginal product of labour
(D) Marginal product of capital

Identify the non-tariff barrier from

the following :

(A) Ad valorem duty
(B) Specific duty

(C) Compound duty

(D) Voluntary export restraint

70.

71.

72.
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2 1
ST A=

T A I GRUI=
1 2/

afiTeuqe (Characteristic roots)

GAleAUeh! HIvl  ?

A 1, D
B) 1, 3)
(C) (-1, -3)
D) (-1, -1)

TS y = KU1 & ld-STod el 3,

W o ¥ JEAU®R! ®E SEEd ?

(A) SRR AfHhr=A Qo= elaehd]

(B) ICURHAT= «Iieddr=ar |iad=l

[SEICEXI
(C) == fom@ Scaeehan
(D) wieser= fEAM ScaRehdl
TTeTed®! AYA faseT e
s
(A) HeaTHftad st
(B) fafyre =2
(C) I A

(D) w=EThRd frafq

o

IBEL]

36
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73. Dumping aims at flooding foreign | 73. éiqg;vlﬂldl 3T QI =t T
country with ................ IO I AL
(A) High priced goods (A) == forudl awq
(B) Low priced goods (B) = fohwad=n a5
(C) Specialized goods (ORELLIET TE]
(D) Monopoly goods (D) HEFRRH ELN
74. The managed float was formally | 74. SHaeqfuq @aq =~ ey 3ifyeshd
recognized in ............... = fHaare.
(A) Geneva Accord (A) TSfeg1 R
(B) Jamaica Accord (B) STHHI HIR
(C) Washington Accord (C) dff¥Te IR
(D) London Accord (D) T FW
75. Tariff on agricultural and industrial | 75. SWIfde HETHE=N Hleeld THRGA FHH
goods imposed by US during great g et 0|v&cj\°|{ SRR STehTa
depression is commonly known as : HrET=qey e Y Y A
(A) The Smoot-Hawley Tariff (A) g-l\d_g,Tqa SThTa
(B) The Smith-Hawley Tariff (B) fg-glaal Sierrdl
(C) Herbert-Hoover Tariff (C) Tee-goR SThrl
(D) The Johnson-Hawley Tariff (D) SIgA-gfael STehTdl
37 [P.T.O.



76.

77.

Factor price equalization theorem
propounded by Heckscher states that
factor prices in two countries get

equalized in the long-term due

(A) difference in opportunity cost

(B) comparative advantage

(C) free trade based on comapara-

tive advantages

(D) absolute advantage

Mercantilism was based on the

ideology of ................

(A) Rapid industrialization

(B) Economic nationalism

(C) Free trade

(D) Economic expansionism

76.

77.
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TR UEId shaled] Heah fohAd THI

2YMd ek Torad gumar weenfud e

(A) Tire=fda dwmed

(B) JoTIcAsh o9

(C) qorIcHesh Ienid Heri AT

38



78.

79.

80.

When a country can import more
with a given quantity of exports, the
terms of trade are said to be ...............
(A) deteriorating terms of trade
(B) improving terms of trade

(C) income terms of trade

(D) double factor terms of trade

Converting your local financial
assets into foreign financial assets
at the market determined exchange
rate is called ............
(A) Reserve Account

(B) American Depository Receipts
(C) Capital Account Convertibility
(D) Current Account Convertibility

IMF’s changed outlook on putting
back the controls on capital account

came after :

(A) The subprime crisis

(B) Greece debt crisis

(C) South-East Asian Crisis

(D) Oil crisis

78.

79.

80.
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ST TEeT <9 feeiean fata A 2 fyes

HIT 3T h& ITehdl dogl o1 SATAST

(A) fooreaien SRt
(B) EHI@FJT TR

(C) ST SATIRITAT
(D) fgores =aTaRETt

arer ffead soen fafa UgEr

T ek fasiar Tosht & Wt foita
{‘il‘l‘dﬁld {C\L.lidi\{q q',{d\l ..................... w
................. 31@. w.

(A) TEE ©d

(B) 3MfeRT S e

o fa

(C) Hiead W=l gied=ae

(D) =Te] @t qRadHrd
ST ATOIE= Wl e

39
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81.

82.

Edgeworth Box allows the study of

the intersection of :

(A)

two individuals trading two

different goods

(B) two individuals trading one

good

(®)

one individual trading two

different goods

(D) two countries trading two sets

containing several goods

To service public debt

be paid.

(A) fees

(B) fine

(C) interest

(D) tax

81.

JUN -11219/11—D

TS S g1 TTelal hivel SaAege

ST STIAAT <l ?

(A) B KT A0 S STeTes SN

I

(B) SN =&l ST TRl aKfan MR

(C) Tk SHKit STIf0T S SHTTTes S

AR

(D) SH < M7 e TR I T

(A) ooh
(B) T8
(C) =St

(D) =X

40
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83. A domestically held public debt is | 83. 3f@d WESTeh sl Fgorel
the debt that .............. (A) IV ARG SAfas Sed 0
[SIRGIG
(A) we owe to the World Bank
(B) 2 A& AeAed! dod 0
(B) we owe to the Central Bank ST
(C) we owe to Government (C) ¥ ANk IMEAT <0 AT
(D) we owe to ourselves (D) <3 AFRe Wd=E S0 AR
84. Public debt accumulation may be so | 84. WSS sl Hod 3qh! g Y Thal
drastic as to lead to ............ Eql EIT@ """"""" Brdl.
(A) fiscal breakdown (A) TSTHTSE Yuediel forers
(B) loss of profit in the public sector (B) TESifeh ST TR g
(C) loss of revenue (C) wRegar=t Bt
(D) break-even point (D) FHFI-3qA fog.
85. According to the principle of | 85 STRUET T TETTIR FEATA
intergenerational equity, the burden FEAE IR 'R ey
of today’s public expenditures must .
ysP P I STAEEE 9.
be borne by ............
(A) FFee U@t
(A) Present Generation
(B) Government (B)
(C) Future Generation (©) 335“ o
(D) Central Bank (D) HEFad! ok
41 [P.T.O.



86.

87.

88.

Government needs to follow the

ethical principle of

resorting to public debt.

(A) Frugality

(B) Equality

(C) Efficiency

(D) Intergenerational equity

Ideally public capital formation
should be financed with the help
of :

(A) loan

(B) borrowing from foreign markets
(C) borrowing from IMF

(D) Tax collected

Rising public expenditure leads to
increase in the rate of interest

resulting in :

(A)

Crowding out of private

investment

(B)

Crowed in of private investment

(C) Market failure

(D) Government failure

87.

88.
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(B) HHMA

(C) wrderHan

(D) SRUST TH=T

eyt Teerdia wreisiier Wreae MfHdEme:

(B) W& ISR el
(C) MasEa Aol weEte sl

(D) R HEHel

& HTESI e EEiges SATS T e

(A) Tt [qaUE HISS 3T BId
(forsram)

(B) @ERft [dde HISE 1 B
(C) dNR 9IS

) RULERREERE
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89. Which of the following is not a public | 89 SIClCiiehT ShIUT esh TeiSt{eh ST
utility ? e ?
(A) Water supply (A) TRl
(B) Electricity (B) @
(C) Entertainment (C) HARSH
(D) Energy (D) it
90. The counterpart of benefit | 90. &Y RN &I oS WU 7
externalities is ...........
(A) qUE ==
(A) average costs
(B) TR =T
(B) total costs
(C) internal costs © o
(D) external costs (D) =& =9
91. Efficiency in production requires | 91. IdERAMIA FREGHA Fore =TT
that : ) 0
(A) Fd IuFAES HHa qhEd T
(A) marginal rates of substitution
are unequal to all consumers A
(B) marginal rates of technical (B) §d SeEmERenErs! HiHid difseh
substitution are unequal to all o T >
firms
(C) marginal rates of substitution (C) ¥ SRS HHIT oA <
are equal to all consumers THE 3TEal
(D) marginal rates of technical (D) T SerTEeiEE i it
substitution are equal to all
firms X '
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92.

93.

If the firm has both monopolistic
power in the product market and
monopolistic power in the input

market then the factor is paid a

Equal to its Marginal Revenue

Product (MRP)

(B) Less than its Marginal Revenue

Product (MRP)

(C) Greater than its Marginal

Revenue Product (MRP)

(D) Equal to its Value of Marginal

Product (VMP)

The concept of revenue neutral rate
of tax becomes relevant in the case

of :

(A)

change in tax base

(B) a new tax replacing an existing

one

(C) an old tax being discarded

(D) change in tax structure

92.

93.
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T AT T ISR FHIGRT o

T<eh STSTId UTBhITHhR 37T X Skl

fed SR Hieea

(A) I=A1 HIHG 3T Tt

(B) <=1 HHIG IcAIeT WTden shHt

(C) = HHia ScdIe WTig el SR

(D) W= [ IARA YeAsdsh

U] HEYA qeEY T Fhedl vl

Sedd T&gd 3Rd ?

(A) == A SEd

(B) 3Tl 3TfiEdcaTd ST =il ST

T R O

(C) TERT ST Y hIGT kel S0l

(D) X T=Ad SIS Qo0
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94. All scheduled banks in India are

included in the ................ schedule of
the Reserve Bank Act and they are
expected to keep cash reserves of

equal to percent of their

deposit liabilities.

JUN -11219/11—D

94. T IRAT ATGFad dehit IR g

TATER =

(A) g, 3
(A) Seventh, 3
(B) &1, 3
(B) Second, 3
(C) Seventh, 2 (C) e, 2
(D) Third, 5 (D) fag==, 5
95. The Origin of Development Banks | 95. feerm® sfehi=n 38 Jrod9Md
can be foundin .......... in the year .......... T gel HgSdl.
(A) France, 1789 (A) %14, 1789
(B) U.S.A, 1776 (B) 4.@8.T., 1776
(C) Germany, 1832 (C) <THY, 1832
(D) Belgium, 1822 (D) dosiad, 1822
96. Indian Monetary Policy based on | 96. Tifse SearmH Hifseh GRom=t RTRRE
monetary targeting was AT 7 Bigds 3
recommended by ............
: : (A) TRISH FiH
(A) Rangarajan Committee
(B) R. Gandhi Committee (B) @M. et wfwd
(C) Khusro Committee (C) 'Cg[{;ﬁ RSl
(D) Chakravarty Committee (D) =wadt g
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97.

98.

What was the major drawback of
Credit Authorization Scheme

practised by RBI in 1965 ?

(A) It led to industrial monopolies

(B)

It resulted into more industrial

sickness

(C) It led to credit starvation

(D)

It led to huge administrative

delays

One of the major differences between
Bills of Exchange and Promissory
Note is that :

(A) Bills of Exchange are for short-
term while Promissory Note is

for long-term

(B) Bill of Exchange has three
parties while Promissory Note

has only two parties

(C) Bills of Exchange are issued by
central bank while Promissory

Notes are issued by commercial
banks

(D) Bills of Exchange are illegal
while Promissory Notes are

legal in nature

97.

98.
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1965 A¥Y AR REed s 0
SV Uq Tfeehaar Arsian J&a gl
HIoar 8 ?

(A) amge enfirer TeRerdt fafor geft

(B) a1qes 3i=NfTeh STSIRU aTee

(C) aMes Taear fmfoT et

(D) e JuE WNHehia foete fmfo
Bl

fafeaest SAfor =AY Ardia Tk g9

Tih 3T Hi :

(A) fafaua IeushTela T9da ™
EEREERALEAGIE I

(B) fafmagard o9 981 19ad @

IEIA shdes S UL 3THAd

(C) fafmaws Aeadl dehehed faaia

o

hell SIATd, T oe9s ST Sieh

faafa@ saa

(D) fafaas 19y 3Ead dX a=993

9 R ST
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99.

100.

Which of the following is not a form

of mortgage ?

(A) Simple mortgage

(B) English mortgage

(C) Partial mortgage

(D) Anomalous mortgage

The RBI appointed a committee

under the chairmanship of S.S.

Tarapore to seek recommendations

on which of the following ?

(A) Restructuring of SBI

(B) Recovery of NPAs

(C) Convertibility of rupee

(D) Implementation of Basel norms

JUN -11219/11—D

99. wWreitetieh! HITT TRIOT=N YehR A&l 2

(A) TY TR

(B) SUSH TR

(C) 3Tifyrer TTEro

(D) 3TYAICTcHS: TTaTol

100. Rgs8 s TH.TH. qREIT A=Al

AT IAET] WTeATeTueht shmmer TRt

o0

a = a
HIOIIHS |Edl FH9Al 7

(A) 9IRAE W dehdl A=

(B) 3TTeH Hu<itel ol

(C) TUIT= gfEd-Iard

(D) d9d d= STHASSITI 0N
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ROUGH WORK
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